
John Deere > Agriculture >TRACTOR >1404 - TRACTOR >1404 Tractor (China Edition) (PC12375) >30 Fuel and Air >Accelerator Assembly - ST247341

Copyright © 2020 Deere & Company. All Rights Reserved.19



John Deere > Agriculture >TRACTOR >1404 - TRACTOR >1404 Tractor (China Edition) (PC12375) >30 Fuel and Air >Accelerator Assembly - ST247341

KEY PART NO. PART NAME QTY REMARKS

1 M136018 Label 1

2 SJ11468 Cable 1 SUB FOR SJ289990

3 11M7059 Cotter Pin 1 3.200 X 20 mm

4 SU289987 Control Lever 1

5 NF100930 Bushing 1

6 19M8291 Screw 1 M8 X 35

7 NF100809 Disk 2

8 RE280266 Link 1

9 R161383 Knob 1

10 R259896 Washer 1

11 K2172R Compression Spring 1

12 24M7040 Washer 2 11 X 20 X 2 mm

13 19M2874 Cap Screw 1 M10 X 70

14 14M7517 Lock Nut 1 M10

15 NF100785 Link 1

16 24M7096 Washer 2 10.500 X 18 X 1.600 mm

17 11M7009 Cotter Pin 2 2 X 16 mm

18 NF101468 Control Lever 1

19 NF100781 Bushing 2

Copyright © 2020 Deere & Company. All Rights Reserved.20


	ST247341 - Accelerator Assembly

